Social Studies 11


 Background to the Cold War


Name: ____________
In the interwar period five or six great powers in the world existed. Following the conclusion of WW2 only two powers were left standing, the __________________ ____________________ and the ___________________. These two countries were followed by several great powers that were either in decline (Britain, France, and Italy), occupied (Japan) or non-existent (Germany).

The American Position Following World War Two

At the end of WW1 the US emerged as the dominant economic power in the world

The US possessed $20 billion of the world’s $33 billion in gold reserves. Half of the manufacturing in the world took place in the US. They supplied 1/3 of the world’s exports and owned over half of the world’s shipping. 

Their military strength was also incredible, and unlike WW1 the US wasn’t going to slip back into an isolationist stance. At the end of WW2 the US had 12.5 million men in uniform, with 7.5 million stationed somewhere overseas. The US navy was larger than the Royal Navy and had 1200 warships centered around dozens of aircraft carriers. Air force had 2000 heavy bombers, 1000 ultra long range B-29 bombers, jet powered B-36 bombers. They also had a monopoly on nuclear weapons that lasted until 1949. 

The US was now in a position to fix what the other powerful nations had messed up. It was a position of moral superiority, one that the US was willing to impose on the rest of the world. She would impose the US doctrine of economics, free trade, entrepreneurship and democracy on all nations willing or unwilling. 

The Soviet Position Following World War Two

The USSR was a military giant. Because of the damage inflicted by ________________, _________________, ___________________, the USSR would take a decade to return its economy and production to pre-war levels. 

After WW2 the USSR controlled an enormous empire. Each Eastern European country that Stalin liberated during WW2 had a _________________ government by 1949. In addition, ___________________, the capital of Germany, was divided post WW2 into four sections. The Soviets controlled the_______________ side and by 1961 construction began on the most symbolic structure of the Cold War, the ___________ _____________. 

The Soviet Union was consumed by security concerns after the war. They wanted to create a Soviet bloc of countries that could offer defense in the time of war. These nations would act as “____________________ zones” against possible invasion from the___________________. They feared the West because they had suffered through two invasions in the previous thirty years. 

The Cold War

Definition: __________ struggle between the US and the USSR for “power and influence” around the globe. The twp ideologies were _________________________and ______________________. Both countries wanted to expand their interests around the world via economics, military aid, alliances, propaganda, and conquest. 

Why is it called the “Cold War”? Because there was no “hot” direct fighting between the Soviet Union and the US. Also, both superpowers used spying, lying and other “cold” methods to deal with each other.

In addition, both superpowers formed alliances. In 1949, Canada joined the US, Great Britain, and other Western European nations in a military alliance called __________ __________ __________ __________ (NATO). The Soviet Equivalent, _____________ ______________ ______________, was established in 1955. 

What caused the Cold War? 
1. Suspicion on both sides (Communist Manifesto, delaying 2nd front, White Army)

2. Yalta Conference ( Can’t decide who liberates what in WW2

3. Soviets “Liberate” Eastern Europe and put in Soviet loyal communist governments. (New Imperialism). Led to containment theory

4. US drops bomb on Japan in part to show USSR their strength and prevent Russian invasion

5. Division of Germany and Berlin Blockade

6. US offers aid to countries torn apart by World War 2, but only if they follow US Rules (Marshall Aid)

7. Long Telegram (Must contain communism or it will spread)

8. NATO and Warsaw Pacts solidify bi-polar world. 

Containment theory led to the American Cold War theory of ______________________, which prompted Americans to invade ___________________________. 

Methods of Competing During the Cold War

1. Armed camps: Each nation tried to draw as many nations as possible into military alliances in order to dominate the other side. NATO and the Warsaw Pact are the best examples of this.

2. Building Nuclear Arsenals.
3. Establishing “backyards”: Each superpower established certain areas that were untouchable by the other superpower. This explains why the Cuban Missile Crisis brought the world so close to war.
4. Espionage
5. Economic Aid: Try to use economic aid to convince clients to join their lists. 
6. “Dollar” Imperialism: Policy of the US especially in Latin America. Private enterprises established a presence in under-developed countries. The economic role of the company became so powerful that it could dictate policies, and if these policies were not followed companies could then threaten to pull out. 
7. Creation of Buffer Zones: Prevented immediate attack on the home country, fighting would take place in buffer countries (eg. Buffer zone in Eastern Europe). 
8. Struggle for Prestige: Countries and people will want to join your camp if you appear to be the one who is going to win. (eg. Space Race, Olympics, Science and Technology). 
Reflection Questions

1. Brainstorm as many reasons as possible to explain why tensions heightened between the US and the Soviet Union at the end of WW2. Use your notes, Page 190-191 of your text and other information you know.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

2. Explain the meaning behind the word “Cold War”

____________________________________________________________________________________________________________________________________________________________________________________

3. Explain what the “domino theory” was? What did the Americans assume when they formulated the domino theory?

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

4. What policy did the American Institute use to deal with the “domino theory”

____________________________________________________________________________________________________________________________________________________________________________________

5. What was so frightening about the Cold War to the rest of the world?

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

6. What were the two superpowers really competing for throughout the war?

__________________________________________________________________________________________

7. Which two alliances were formed during the Cold War? Who were the members? Did they help decrease tensions between the superpowers?

____________________________________________________________________________________________________________________________________________________________________________________
